SMHI Gridded Climatology

Appendix B: Error estimates
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Error statistics for T2m in terms of bias and standard deviations for each analysis hour.

T2m bias and standard deviation
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Yearly mean of RMSE and thenumber of observations for each hour of the T2m analys

T2m RMSE and number of observations
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Error statistics for Td2m in terms of bias and standard deviations for each analysis hour.

Td2m bias and standard deviation
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Td2m RMSE and number of observations

Figure 4: Yearly mean of RMSE and thenumber of observations for each hour of the Td2m analysis
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Rh2m bias and standard deviation

Error statistics for Rh2m in terms of bias and standard deviations for each analysis hour.
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Yearly mean error statistics for th2m; fg(uld)-ob and an(cv)-ob at 00 UTC Yearly mean error statistics for th2m; fg(u|d)-ob and an(cv)-ob at 01 UTC Yearly mean error statistics for th2m; fg(uld)-ob and an(cv)-ob at 02 UTC Yearly mean error statistics for th2m; fg(u|d)-ob and an(cv)-ob at 03 UTC Yearly mean error statistics for rh2m; fg(uld)-ob and an(cv)-ob at 04 UTC Yearly mean error statistics for rh2m; fg(uld)-ob and an(cv)-ob at 05 UTC

mean fo_uob

014
mean fo_d.ob
mean an-ob

012 statg_uob
stafg_dob

. @b std anob

N N

—= meanfg_uan
== mean fg_d.ob
-~ meananab
— stafo_uon
— st o don

A
== meantg uon
= meanfg o0
= meanamon
g ueb
— satgson
— Samno
000 AT AR D) podeny o g T e g\ e} st Ims e espeiimmeent (S
B e e A S e Sl e D o ] B somer I I T S SIIeTiEiIimemetinaeaag
NG Sy : I N ey SNINERN N FESN i N S e ot
W~ v ~ o = -
-0.02
1960 1970 1980 199 2000 2010 202 2000 2005 2010 2015 2000 2005 2010 2015 1970 1980 1990 2000 2010 202 2000 2005 2010 2015 2000 2005 2010 2015

— o wob
— sudto don
— swono
PRV, PR 2 i
VAN N ARV
Al bR s TR =T YT
000 7= oy, LY NI ot
N

; N -
B A e

~002 Nn

== meanfo_uon
mean fo_d-ob

mean an.ob

stdfg_uob

11

.\/k VNN
il AT e W

ooy

== mean fo_uob
= meant_dob
—- meanancb
— s,

std an-ob

— statguob
— s tg dob
— sanob s,

Yearly mean error statistics for th2m; fg(uld)-ob and an(cv)-ob at 12 UTC Yearly mean error statistics for th2m; fg(u]d)-ob and an(cv)-ob at 13 UTC Yearly mean error statistics for th2m; fg(u]d)-ob and an(cv}-ob at 14 UTC Yearly mean error statistics for th2m; fg(uld)-ob and an(cv)-ob at 15 UTC Yearly mean error statistics for th2m; fg(u]d)-ob and an(cv)-ob at 16 UTC Yearly mean error statistics for rh2m; fg(u]d)-ob and an(cv)-ob at 17 UTC

//\\/\,(\\/\/\/\l(\
(/I\(\/l) 2 rentiion

§

= ~ meananon
= = Satu — Satue || wamuon
[ENFAY op 7, — stifo.don — stdfg dob — stdfg_dob
Ve NN — stdanob — sanon — stdanob A m y
o~ . = PPN et Saad P N NN PO S g
S w P - = AVEAY A WS\ T o S i
R N N rrp— S VN TN TS o ==
o — . 3 e W s =
0.00 A S R poSSP Bt PTGV 1 s S SRR I Byt S e mmaSmammmaas
Do
002
1960 1970 1m0 199 2000 2010 202 2000 2005 2010 2015 2000 2005 2010 2015 1970 1m0 190 2000 2000 20 2000 2005 2010 2015 2000 2005 2010 2015

Yearly mean error statistics for th2m: fg(uld)-ob and an(cv)-ob at 18 UTC Yearly mean error statistics for rh2m; fg(uld)-ob and an(cv)-ob at 19 UTC Yearly mean error statistics for th2m; fg(uld)-ob and an(cv)-ob at 20 UTC Yearly mean error statistics for rh2m; fg(uld)-ob and an(c)-ob at 21 UTC vearly mean error statistics for h2m; fg(uld)-ob and an(cv)-ob at 22 UTC Yearly mean error statistics for th2m; fg(uld)-ob and an(cv)-ob at 23 UTC

>\J\</\\/\(((\,\/)\/\J‘\/\/\
AN AT

== mesnfouon

— st fo.g0b
— swano

—= meanfg_uwan
== meanfg don
—~ meonanb

e
meantgzdon | [|== asis:,\/\,)\l\.//)\/.\/\/\.\
se ||| = s
s ||z ues
e P Non FIT NN o, s i
e g ALY on e T T W T
e B e e s g B e b N | PP
m 10 1% w0 000 2010 20 2000 2005 200 2055 200 2005 200 200 W e ww 2w om0 2ox 2000 2005 2010 20 2000 2005 2000 20



Rh2m RMSE and number of observations

N

Yearly mean of RMSE and thenumber of observations for each hour of the Rh2m analys

Figure 6
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